
SDXBST300TVM1021 - TV Mount adapter for BOSE SoundTouch 300 Soundbar

P1

TV Fixing Kit

X4

I - M6 washer
J - M8 washer

K- M8 x 6mm spacer
L - M8 x 12.5mm spacer

E - M6 x 30mm
F - M8 x 30mm
G - M8 - 50mm

H - M8 x 20mm

X4
X4X4 X4

M - M6 x 6.5mm spacer
N - M8 x 6.5mm spacer

Assembly Kit

X4
B - M6 washerA - M6 x 12mm

assembly bolt

X4

C - M5 x 10mm
Countersunk

X2

D - M5 x 30mm

X2

Tools

X1

O - 4mm key
P - 5mm key
Q - 6mm key

R - Spanner

X1

1 2
I/Jx4

Note: Insert if
required.

M/Nx4

K/Lx4

QP

E/F/G/H
x4

/

3.2

4.2

3.1

4.1

Bx4 OAx4

Dx2 R

!

43

5

Also required*

* Zusätzlich wird benötigt  * Également requis  * También se requiere  * Si richiedono inoltre  * Дополнительно необходимо  * Ook vereist  * lisäksi tarvitaan  * Dodatkowo wymagane  * Dessutom behövs 



P2

7.1

7.2

Cx2

Cx2

x2

6 7

9

x2 x2

R RO

8

8.1

8.2

8.3

O

SDXBST300TVM1021 - TV Mount adapter for BOSE SoundTouch 300 Soundbar

9.3

9.2

9.1


